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Part - III

rhop_ / SCIENCE

(NyS>fpsu A_¡ A„N°¡Æ A_yhpv$ / Gujarati & English Versions)

kde : 2½ L$gpL$ ] [ Ar^L$sd A„L$ : 75
Time Allowed : 2½ Hours ] [ Maximum Marks : 75

k|Q_p : (1) âñ `Ó_y„ dyÖZ k„sp¡jL$pfL$ R>¡ s¡ s`pku g¡hy„. Å¡ L$p¡C Mpdu gpNu sp¡, M„X$ `qfr_funL$_¡
syfs ÅZ L$fhu.

(2) gMhp s\p AÞX$fgpC_ L$fhp dpV¡$ c|fu A\hp L$pmu õeplu_p¡ D`ep¡N L$fhp¡ A_¡ rQÓ v$p¡fhp
dpV¡$ `¡[Þkg_p¡ D`ep¡N L$fhp¡.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

_p¢^ : Ap âñ`Ódp„ ÓZ rhcpN R>¡.
Note : This question paper contains three sections.

`ÓL$ _„bf
Register Number

[ Turn over

rhcpN - I / SECTION - I

(NyZ : 15) / (Marks : 15)

_p¢̂  : (i) b^p„S> 15 âñp¡_p S>hpb Ap`hp_p R>¡. 15x1=15

(ii) L$p¦kdp„ Ap ¡̀gp rhL$ë`p¡dp„\u kpQp„ S>hpb_y„ Qe_ L$fp¡.

Note : (i) Answer all the 15 questions.

(ii) Choose the correct answer from the alternatives given in the brackets.
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1. CÞõeygu_ r_c®f X$peprbV$uk\u `uqX$s gp¡L$p¡dp„, õhpvy$t`X$_p __________ L$p¡jp¡_p¡ A`úpk \pe R>¡.

(Apëap, rbV$p, Npdp, X¸$ëV$p)

In persons suffering from insulin - dependent diabetes, __________ the cells of pancreas
are degenerated.

(Alpha, Beta, Gamma, Delta)

2. AbOX$u S>Þd¡gp riiy_¡ Ap`hpdp„ Aphsu kh®â\d fku _________ R>¡.

(dp¥rML$ `p¡rgep¡ , X$u`uV$u, X$u`uV$u A_¡ dp¥rML$ `p¡rgep¡, bukuÆ)

The first vaccine injected into a just born baby is _________.

(Oral polio, DPT, DPT and Oral polio, BCG)

3. ârsfrns âZpgu\u k„b„r^s A„s:õÓphu N°„r\ __________ R>¡.

(\pCfp¡CX$, \pCdk, A¡X²$u_g, r`_ueg)

The endocrine gland related to the immune system is __________.

(Thyroid, Thymus, Adrenal, Pineal)

4. `pZudp„ c]S>h¡gp buS>_¡ v$bphsp, __________ dp„\u _p_u dpÓpdp„ `pZu blpf Aph¡ R>¡.

(õV$p¡d¸V$p, g¡ÞV$ukg¹$, dpC¾$p¡`pCg, f¡X$uL$g)

If a water soaked seed is pressed, a small drop of water comes out through the
__________.

(Stomata, Lenticel, Micropyle, Radicle)

5. __________ _u hÃQ¡ rdÓg hpëh lp¡e R>¡.

(S>dZp¡ L$Z®`ëgh A_¡ S>dZp¡ n¡`L$, X$pbp¡ L$Z®`ëgh A_¡ X$pbp¡ n¡`L$, S>dZp¡ n¡̀ L$ A_¡ `gdp¡_fu ApV®$fu,
X$pbp¡ n¡̀ L$ A_¡ A¡Ap¡V$p®)

Mitral valve is found between __________.

(Right auricle and right ventricle, Left auricle and left ventricle, Right ventricle and
pulmonary artery,  Left ventricle and aorta)
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6. dp¡_p¡V²$p¡̀ pdp„, `p¡jZ_¡ ip¡ju g¡sy„ A¡L$ rhi¡j âL$pf_y„ d|m, s¡  __________ R>¡.

(ip¡jL$d|m, kl`p¡rjs d|m, k„gÁ_ d|m, A`õ\pr_L$ d|m)

In monotropa the special type of root which absorbs nourishment is the __________.

(Haustoria, Mycorrhizal root, Clinging root, Adventitious root)

7. L$C D`Qpf âq¾$ep\u Ahkpqv$s A_¡ sfsp `v$p\p£_p¡ r_L$pg L$fhpdp„ Aph¡ R>¡ ?

(âp\rdL$ D`Qpf, qÜsueL$ D`Qpf, s©sueL$ D`Qpf, `qfO D`Qpf)

The sedimented and floating materials are removed by this treatment process.

(Primary treatment, Secondary treatment, Tertiary treatment, Peripheral treatment)

8. KX$p kdyÖu X|$bL$udpfp¡ Üpfp __________ N¡k rdîZ_p¡ D`ep¡N \pe R>¡.

(rlgued-Ap¡[¼kS>_, Ap¡[¼kS>_-_pCV²$p¡S>_, lpCX²$p¡S>_-_pCV²$p¡S>_)

The mixture of gases used by deep-sea divers is __________.

(helium - oxygen, oxygen - nitrogen, hydrogen - nitrogen)

9. A¸rkV$uL$ A¡rkX$dp„ rh_¡Nf lp¡e R>¡. v$l]dp„ __________ A¡rkX$ lp¡e R>¡.

(g¡[¼V$L$ A¡rkX$, V$pV$p®qfL$ A¡rkX$, kpCV²$uL$ A¡rkX$)

Vinegar is present in acetic acid.  Curd contains __________ acid.

(Lactic acid, Tartaric acid, Citric acid)

10. b^p L$pb®r_L$ k„ep¡S>_dp„_y„ A¡L$ dy¿e OV$L$ `v$p\® __________  R>¡.

(14dp„ kd|ldp„, 15dp„ kd|ldp„, 16dp„ kd|ldp„)

An element which is an essential constituent of all organic compounds belongs to the
__________ group.

(14th group, 15th group, 16th group)
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11. g¡V$¼k\u fbf_p õL$v$„_ dpV¡$ __________ _p¡ D`ep¡N \pe R>¡.

(C\¡_p¡g, C\¡_p¡CL$ A¡rkX$)

__________ is used for coagulating rubber from latex.

(Ethanol, Ethanoic acid)

12. __________ kŷ u L$p¡C`Z _p_u hõsy_p¡ rhõspf õ¾y$ N¡S> S>¡hp D`L$fZ\u dp`u iL$pe R>¡.

(0.1 k¡du, 0.01 k¡du, 0.1 rddu, 0.01 rddu)

Screw Gauge is an instrument used to measure the dimensions of very small objects
upto __________.

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

13. s¡ cp¥rsL$ fpri S>¡ h¡Ndp_ a¡fapf v$f\u kdp_ lp¡e s¡_¡ __________ L$l¡hpe R>¡.

(rhõ\p`_, âh¡N, bm, Aph¡N)

The physical quantity which is equal to the rate of change of momentum is __________.

(displacement, acceleration, force, impulse)

14. qL$gp¡hp¸V$-L$gpL$ s¡ __________ _y„ A¡L$d R>¡.

(rhchp„sf, rhÛys i[¼s, rhÛys EÅ®, huS>cpf)

Kilowatt-hour is the unit of __________.

(potential difference, electric power, electric energy, charge)

15. ^p[ÐhL$ L„$X$¼V$f\u `kpf \sp¡ rhÛys âhpl s¡_u afs¡ __________ DÐ`Þ_ L$f¡ R>¡.

(Qy„bL$ue n¡Ó, ep„rÓL$ bm, â¡qfs âhpl)

An electric current through a metallic conductor produces __________ around it.

(magnetic field, mechanical force, induced current)
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rhcpN - II/SECTION - II

(NyZ : 40/Marks : 40)

_p¢^ : L$p¡C`Z huk âñp¡_p S>hpb Ap`p¡. 20x2=40

Note : Answer any twenty questions :

16. Ap„sf Års A_¡ A„sf Årsdp„ h„ipNrs gnZp¡dp„ rcÞ_sp lp¡e R>¡. r_ç_ v$pMgpdp„ s¡ a¡f S>Zphp¡.

(i) dp_h _¡Óp¡dp„ c|fp¡, L$pmp¡, c|Mfp¡, gugp¡ rhN¡f¡ f„Np¡_u rhrcÞ_sp lp¡e R>¡. Ap_¡ __________
rhrcÞ_sp L$l¡hpe R>¡.

(ii) kkgp A_¡ lp\udp„ v$„srhÞepk kdp_ lp¡sy„ _\u. Ap_¡ __________ rhrcÞ_sp L$l¡hpe R>¡.

The inheritable characters vary in different species and within the same species.  Name
the variation in the following cases.

(i) The eye colour among the human beings are varied as blue, black, brown, green
etc.  This is called as __________ variation.

(ii) The dentition in the rabbit and the elephant are not the same.  This is called as
__________ variation.

17. Ap_yh„riL$ C[ÞS>_uef]N A¡V$g¡ iy„ ?

What is Genetic Engineering ?

18. Å¡X$u_u Ap¡mM L$fu ep¡Áe Å¡X$L$p b_php¡ :

(Ap¥jr^, I^Z, k|ÿd Æh, D`p`Qe, L$pb®r_L$ A¡rkX$)

(i) fku (ii) âpL©$rsL$ N¡k

(iii) kpCV²$uL$ A¡rkX$ (iv) rhV$pdu_

Match the following by identifying the pair :

(medicines, fuel, microbes, metabolism, organic acids)

(i) Vaccine, (ii) Natural gas,

(iii) Citric acid, (iv) Vitamins



www.ca
re

er
in

dia.
co

m

66836

19. d¸fkdk A_¡ ¼hpiuAp¡L®$f b„_¡ âp¡V$u_ EZ` MpduAp¡ R>¡. d¸fkdkdp„ hr ®̂s Dv$f A_¡ dyM `f k|S>_ fl¡ R>¡
S>¡ ¼hpiuAp¡L®$f \u AgN gnZ R>¡. Ap ¡̀gp fp¡Np¡ dpV¡ iy„ Ap gnZp¡ kpQp„ R>¡ ? Å¡ A¡d _\u sp¡ kŷ pfp¡.

Marasmus and Kwashiorkar are both protein deficiency defects.  Marasmus differs
from Kwashiorkar in enlarged belly and swelling in the face.  Are these symptoms for
the above diseases correct ?  If not, correct it.

20. rQÓ_u _L$g L$fu, k„L¡$s_u dv$v$\u Ap`¡gp cpNp¡_¡ _pdp„qL$s L$fp¡¡.

Copy the diagram and label the parts with the help of the clues given :

(i) s¡_¡ kyâp fu_g N°„r\ `Z L$l¡hpe R>¡.

(ii) s¡ AëX$p¡õV$ufpµ_ A_¡ L$p¡V$}kp¡_ _pdL$ b¡ lp¡dp£__p¡ õÓph L$f¡ R>¡.

(i) It is otherwise called supra renal gland.

(ii) It secretes two hormones, namely aldosterone and cortisone.

21. Ap ¡̀g rQÓ_¡ v$p¡fu r_ç_ cpNp¡_¡ _pdp„qL$s L$fp¡.

(i) A¸¼TpC_ (ii) V$éyb Þe|[¼gek

Draw the given diagram and label the following parts.

(i) Exine (ii) Tube nucleus
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22. KV$dp„ A¡hp L$p¡C Qpf A_|Ly$g_ S>Zphp¡ S>¡\u s¡ fZdp„ kamp |̀h®L$ flu iL¡$ R>¡.

Mention any four adaptations seen in the camel so that it can live successfully in deserts.

23. Akd_¡ ip¡^u L$pY$p¡:

(i) Ágp¡bygu_, Ágp¡dê$gk, apCb°u_p¡S>_, A¡ëbydu_

(ii) `lpX$u bL$fp¡, dp¡V$p tiNhpmp O¡V$p„, L$QhpV$u cpgy„, kug

Pick out the odd one out.

(i) globulin, glomerulus, fibrinogen, albumin

(ii) mountain goat, big horned sheep, grizzly bear, seal

24. _uQ¡ Ap ¡̀g L$p¡ô$L$_¡ |̀Z® L$fp¡:

dm rhkS>®_ A„N rhkS>®_ ê$̀ rhkrS>®s `v$p\p£

d|Ót`X$ d|Ó
_pCV²$p¡S>_ ey¼s L$Qfp_p¡ r_L$pg-e|qfep, eyqfL$ 

A¡rkX$, q¾$A¡V$u_pC_ rhN¡f¡

a¡akp„ brl:ðk_/ðpk d|L$hp¡ __________

ÐhQp __________ AÐepr^L$ `pZu A_¡ _dL$

Complete the table given below :

Excretory organ Disposed as Excretory products

Kidneys Urine
Nitrogenous waste products - 

Urea, Uric acid, Creatinine etc.

Lungs Exhaled/Expired air           __________  .

Skin           __________  . Excess water and salts
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25. rQÓ `f Ýep_ v$p¡.

(i) rQÓ A A_¡ B dp„ v$ip®ìep âdpZ¡ lg_-Qg__p âL$pf S>Zphp¡.

(ii) Ap lg_-Qg_, rddp¡kp_p lg_-Qg_\u L¡$hu fus¡ rcÞ_ R>¡ ?
Observe the diagram.

(i) Mention the type of movements shown in figure A and B.

(ii) How does this movement differ from the movement of mimosa ?

26. iL®$fp ÖphZ_y„ ApëL$p¡lp¡gdp„ `qfhs®_ \pe R>¡.

(i) D`f_u ârsq¾$epdp„, L$ep âL$pf_u âq¾$ep \pe R>¡ ?

(ii) Apdp„ L$ep k|ÿd Æhp¡ ipd¡g R>¡ ?
Sugar solution is converted into alcohol.

(i) In the above reaction what kind of process takes place ?

(ii) Which micro - organism is involved ?

27. ep¡Áe Å¡X$L$p„ Np¡W$hp¡ :
A      B

(a) A¡dp¡_p¡V¡$guL$ (i) A_¡guX$

(b) eyqfep¡V¡$guL$ (ii) dpR>gu

(c) eyqfL$p¡V¡$guL$ (iii) õs_^pfu

(d) _¡äuX$uAp (iv) `nuAp¡
Match the following :

A      B

(a) Ammonotelic (i) annelids

(b) Ureotelic (ii) fish

(c) Uricotelic (iii) mammal

(d) Nephridia (iv) birds
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28. r_ç_ Æhp¡_¡ kpQp„ `p¡jZ õsfdp„ d|L$u Aplpf î©„Mgp b_php¡.

(kp„`, Opk, Qug, v$¡X$L$p¡, susuOp¡X$p¡)
Depict a food chain by placing the following organisms in the correct trophic levels.

(Snake, Grass, Eagle, Frog, Grasshopper)

29. `qfhl_ dpV¡$ rhrcÞ_ âhplu S>¥hI^Z S>Zphp¡ ? (L$p¡C`Z Qpf)
What are the various liquid biofuels for transportation ?  (Any four)

30. ep¡Áe _huL$fZ`pÓ A_¡ rb_-_huL$fZ`pÓ öp¡sp¡_p„ ep¡Áe Å¡X$L$p„ b_php¡.

öp¡s A B C

_huL$fZ L$p¡gkp `h_ `¡V²$p¡gued

rb__huL$fZ lpCX²$p¡S>_ âpL©$rsL$ N¡k kp¥f EÅ®

Match the suitable renewable and non-renewable sources.

Sources A B C

Renewable Coal Wind Petroleum

Non - Renewable Hydrogen Natural gas Solar energy

31. gpMp¡ hj® `|h® c|rdNs v$a_pe¡gp Æhcpf\u Æhpídu I^Z b_¡ R>¡. L$p¡C`Z b¡ Æhpídu I^Z_p _pd
S>Zphp¡.
Fossil fuels are formed by decomposition of biomass buried under the earth over millions
of years ago.  Name any two fossil fuels.

32. b°pD_ue_ lg_Qg_ A¡V$g¡ iy„ ?
What is Brownian movement ?

33. 50 N°pd `pZudp„ 20 N°pd kpdpÞe _dL$ Ap¡Npmsp, ÖphZ_y„ k„L¡$ÖZ hS>_ ârsisdp„ ip¡̂ p¡.$
Find the concentration of solution in terms of weight percent if 20 g of common salt is
dissolved in 50 g of water.

34. L$p¡̀ f_p„ 12.046×1022 `fdpÏ„Ap¡dp„ dp¡ëk_u k„¿ep ip¡̂ p¡.
Calculate the number of moles in 12.046×1022 atoms of copper.
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35. buL$fdp„ ‘A’ A_¡ ‘B’ A¡d b¡ A¡rkX$ d|L$hpdp„ Aph¡ R>¡. `pZu kp\¡ A¡rkX$ ‘A’ _y„ Ap„riL$ rhOV$_ \pe R>¡,
Äepf¡ A¡rkX$ ‘B’ _y„ `pZu kp\¡ |̀Z® rhOV$_ \pe R>¡.

(i) ‘A’ A_¡ ‘B’ A¡d b¡ A¡rkX$dp„\u L$ey„ A¡rkX$ d„v$ A_¡ L$ey„ âbm b_¡ R>¡ ?

(ii) d„v$ A¡rkX$ A_¡ âbm A¡rkX$ dpV¡$ A¡L$ Dv$plfZ Ap`p¡.

Two acids ‘A’ and ‘B’ were kept in beakers.  Acid ‘A’ undergoes partial dissociation in
water, whereas acid ‘B’ undergoes complete dissociation in water.

(i) Of the two acids ‘A’ and ‘B’.  Which is weak acid and which is strong acid ?

(ii) Give one example for weak acid and strong acid.

36. Akd_¡ ip¡^u L$pY$p¡:

(i) AL$pb®r_L$ A¡rkX$: HCl, HNO
3
, H

2
SO

4
, HCOOH

(ii) d|m âL©$rs: gp¡lu, b¡qL„$N kp¡X$p, rh_¡Nf, Of-h`fpi A¸dp¡_uep

Pick the odd one out :

(i) Inorganic acids : HCl, HNO
3
, H

2
SO

4
, HCOOH

(ii) Basic Nature :  Blood, Baking Soda, Vinegar, Household ammonia

37. r_ç_ rh^p_dp„, Å¡ Lp¡C c|g lp¡e sp¡ kŷ pfp¡:

(i) buÅ¡ Aphs® gOy Aphs® lp¡e R>¡. s¡dp„ dpÓ b¡ sÒhp¡ lp¡e R>¡.

(ii) kd|l 18 _p sÒhp¡_¡ l¡gp¡S>_ a¡rdgu L$l¡hpe R>¡.

Correct the mistakes, if any in the following statement.

(i) Second period is a short period.  It contains only two elements.

(ii) Group 18 elements are called Halogen family.

38. kd\®_ :   kpa _ L$fsp„, L$p¡̀ f_p hpkZp¡ `f gugu `fs v$¡Mpe R>¡.

L$pfZ :   s¡_y„ L$pfZ b¡TuL$ L$p¡̀ f L$pbp£_¡V$_u `fs_p r_dp®Z\u \pe R>¡.

(a) kd\®_ A_¡ L$pfZ kpQp„ R>¡ A_¡ A¡L$buÅ_¡ dlÐh_p R>¡.

(b) kd\®_ kpQy„ R>¡ `Z kd\®_ dpV¡$ L$pfZ dlÐh_y„ _\u.

Assertion :   A greenish layer appears on copper vessels, if left uncleaned.

Reason :   It is due to the formation of a layer of basic copper carbonate.

(a) Assertion and reason are correct and relevant to each other.

(b) Assertion is true but reason is not relevant to the assertion.
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39. A\pZy„ `qffrns L$fhp dpV¡ L$p¡C L$pb®r_L$ k„ep¡S>_ (A) _p¡ h^pf¡ `X$sp¡ D`ep¡N $ \pe R>¡ S>¡_y„ Ap[Îhe k|Ó
C
2
H

4
O
2 
R>¡. Ap k„ep¡S>_, C\¡_p¡g kp\¡ ârsq¾$ep\u, duW$p¡ kyN„r^s k„ep¡S>_ (B) b_¡ R>¡.

(i) A A_¡ B k„ep¡S>__¡ Ap¡mMp¡.

(ii) s¡ âq¾$ep_y„ _pd S>Zphp¡ A_¡ s¡_¡ A_|Ly$m fpkperZL$ kduL$fZ gMp¡.

An organic compound (A) is widely used as a preservative in pickle and has a molecular
formula C

2
H

4
O

2
.  This compound reacts with ethanol to form a sweet smelling

compound (B).

(i) Identify the compounds A and B.

(ii) Name the process and write the corresponding chemical equation.

40. kd\®_ (A) : dp_h ifuf_p„ A„v$ê$_u cpNp¡dp„ suh° Qy„bL$ue n¡Ó v$pMg L$fu_¡ õL¡$_ L$fhp dpV¡$ MRI _p¡
D`ep¡N \pe R>¡.

L$pfZ (R) : Ars suh° Qy„bL$ue n¡Ó_p¡ D`ep¡N L$fu, Ars DÃQ qfkp¡ëeyi__p rQÓp¡ d¡mhu iL$pe R>¡.

(a) (A) Mp¡Vy R>¡ A_¡ (R) kpQy„ R>¡.

(b) (A) kpQy„ R>¡ A_¡ (R) Mp¡Vy$ R>¡.

(c) (A) A_¡ (R) b„_¡ Mp¡V$p R>¡.

(d) (A) kpQy„ R>¡ A_¡ (R) s¡ (A) _p¡ Ap^pf R>¡.

Assertion (A) : MRI is used to scan the inner organs of human body by penetrating
very intense magnetic field.

Reason (R)     : By use of very intense magnetic field, very high resolution images can
be obtained.

(a) (A) is incorrect and (R) is correct.

(b) (A) is correct and (R) is incorrect.

(c) Both (A) and (R) are incorrect.

(d) (A) is correct and (R) supports (A).

41. 1 qL$gp¡ v$m ^fphsu L$p¡C hõsy_¡ 20 du _u KQpC\u a¢L$phpdp„ Aph¡ R>¡. s¡ S>du_\u A\X$pC_¡ s¡ S> Nrs\u
`pRy>„ af¡ R>¡. s¡\u h¡Ndp_dp„ afL$_¡ ip¡̂ p¡. (g = 10 m/s2 gp¡)

An object of mass 1 kg is dropped from a height of 20 m.  It hits the ground and
rebounds with the same speed.  Find the change in momentum

(Take g = 10 m/s2)
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42. ep¡Áe Å¡X$L$p„ Np¡W$hp¡ :

cpNp¡ rQŒp¡

(a) A¡L$ rhÛys L$p¡j (i)

(b) àgN qL$ (A\hp) [õhQ (b„̂ ) (ii)

(c) Å¡X¡$gp¡ spf (iii)

(d) R ârsfp¡̂  ^fphsy„ ârsfp¡̂ L$ (iv)

Match the following :

COMPONENTS SYMBOLS

(a) An electric cell (i)

(b) Plug key (or) switch (closed) (ii)

(c) A wire joint (iii) 

(d) A resistor of resistance R (iv)

43. qf¼s õ\p_ cfp¡ :

(i) rhchp„sf : hp¡ëV$duV$f; sp¡ rhÛys âhpl : ___________

(ii) S>g i[¼s k„e„Ó : `f„̀ fpNs EÅ® öp¡s ; sp¡ kp¥f EÅ® : __________

Fill in the blanks :

(i) Potential difference : Voltmeter ; then Current : ___________

(ii) Hydro power plant : Conventional source of energy ; then Solar energy :
__________
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44. kdyÖ Dódp EÅ® rhi¡ gMp¡.

Write about ocean thermal energy.

45. A„sNp£m v$ ®̀Z_p¡ D`ep¡N L$fu, L$p¡C hõsy\u b_sy„ ârstbb _uQ¡ v$ip®h¡g qL$fZ rQÓ\u v$ip®hhpdp„ Apìey„ R>¡.

(a) s¡dp„ S>¡ c|g R>¡ s¡ Ap¡mMu kpQp„ qL$fZ rQÓ_¡ v$p¡fp¡.

(b) sdpfp ky^pfp_¡ ìepS>bu W$fphp¡.

The ray diagram shown below is introduced to show how a concave mirror forms the
image of an object.

(a) Identify the mistake and draw the correct ray diagram.

(b) Write the justifications for your corrections.

46. ãg¡tdN_p S>dZp lp\_p r_ed_u ìep¿ep L$fp¡.

Define Fleming’s right hand rule.

47. L$p¡C hõsy_¡ Arckpfu g¡Þk\u 25 k¡du ApNm fpMsp, s¡_y„ ârstbb g¡Þk\u 20 k¡du `pR>m b_¡ R>¡. sp¡
g¡Þk_u _pcue g„bpC ip¡̂ p¡ ?

If an object is placed 25 cm in front of the converging lens forms an image 20 cm
behind the lens, then what is the focal length of the lens ?
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rhcpN - III/SECTION - III

(NyZ : 20/Marks : 20)

_p¢^ : (i) âÐe¡L$ cpNdp„\u A¡L$ âñ_y„ Qe_ L$fu L$p¡C`Z Qpf âñp¡_p S>hpb Ap`hp. 4x5=20

(ii) âÐe¡L$ âñ `p„Q NyZ ^fph¡ R>¡.

(iii) S>ê$f S>Zpe Ðep„ rQÓp¡ v$p¡fhp.
Note : (i) Answer any four questions by choosing one question from each part.

(ii) Each question carries five marks.

(iii) Draw diagrams wherever necessary.

cpN & I/PART - I

48. sdpfp  n¡Ódp„ dg¡qfep ìep`L$ apV$u r_L$þep¡ R>¡.

(a) s¡_¡ r_e„ÓZ L$fhp dpV¡$  k„b„r^s õ\pr_L$ Ar^L$pfuAp¡_¡ AdyL$ D`pe Ap`p¡.
(b) dg¡qfep fp¡N_p gnZ S>Zphp¡.
There is a widespread outbreak of malaria in your area.

(a) Suggest some controlling measures to the local authorities concerned.

(b) Write the symptoms for malaria.

49. (a) k|Qudp„ Ap ¡̀gp iåv$p¡_p¡ âep¡N L$fu r_ç_ `qfÃR>¡v$_¡ |̀Z® L$fp¡.

(L¡$i¡ê$L$p, d©vy$spr_L$p, A¸f¡L$_p¡CX$ d¡çb¡°_, d¡r_ÞÆk, X$éyfpd¡V$f)

L¡$ÞÖue Q¡sps„Ó ÓZ kyfrns AphfZp¡\u Y„$L$pe¡gy„ lp¡e R>¡ S>¡_¡ k„ey¼s fus¡      (1)     L$l¡hpe R>¡. kp¥\u
bplfu cpN Mp¡̀ X$u A_¡      (2)     _u _uQ¡ lp¡e R>¡ S>¡ bdÏ„ ÅXy„$ lp¡e R>¡ A_¡ s¡_¡      (3)      L$l¡hpe
R>¡. hQgy„ AphfZ `psmy„ A_¡ hprlL$prd lp¡e R>¡ S>¡_¡      (4)     L$l¡hpe R>¡. kp¥\u A„v$f_y„ AphfZ Ars
`psmu _pSy>L$ d¡çb¡°_ lp¡e R>¡ S>¡ dNS> A_¡ L$fp¡X$fÄSy>$_p bplfu ©̀›$ `f _ÆL$\u a¡gpe¡gu lp¡e R>¡ A_¡
s¡_¡      (5)      L$l¡hpe R>¡.

(b) L$p¡C`Z 5 âL$pf_p Q¡sp L$p¡j S>Zphp¡.

(a) Use words from the given list to complete the following paragraph.

(Vertebral column, Piamater, Arachnoid membrane, Meninges, Duramater)

The central nervous system is covered by three protective coverings collectively

called      (1)     .  The outermost cover lying below the skull and      (2)      is double

thick and is called      (3)     .  The middle covering is thin and vascularised and is

called      (4)     . The innermost cover is a very thin delicate membrane and is
closely stretched over the outer surface of Brain and Spinal Cord and is called
     (5)     .

(b)  Name any 5 types of nerve cells.
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cpN - II/PART - II

50. qÜbuS>`Óu_u k„fQ_p_y„ ky„v$f rQÓ kp\¡ hZ®_ L$$fp¡.

Describe the structure of a dicot seed with a neat diagram.

51. (a) lqfs fkpeZ A¡V$g¡ iy„ ?

(b) lqfs fkpeZ_p cprh DÐ`pv$ gMp¡.

(a) What is Green Chemistry ?

(b) Write the future products of Green Chemistry.

cpN & III/PART - III

52. Ap ŷr_L$ `fdp[ÎhL$ rkÙp„s sf„N rhQpf, Ar_ròsp r_ed A_¡ AÞe hs®dp_ Mp¡S> Üpfp `fdpÏ_y„ õ`ô$ rQÓ
v$ip®hhp dpN¡ R>¡. Ap ŷr_L$ `fdp[ÎhL$ rkÙp„s_u ip¡̂  S>Zphp¡.

Modern atomic theory takes up the wave concept, principle of uncertainty and other
latest discoveries to give a clear cut picture about an atom.  State the findings of modern
atomic theory.

53. dp¸g¡rkT\u C\¡_p¡g_y„ DÐ`pv$_ kdÅhp¡.

Explain the manufacturing of Ethanol from Molasses.
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cpN - IV/PART - IV

54. (a) Þe|V$_ Nrs_p¡ â\d r_ed bm_u NyZpÐdL$ ìep¿ep L$f¡ R>¡. s¡_¡ ìepS>bu W$fphp¡.

(b) rQÓdp„ 10 qL$gp¡ A_¡ 15 qL$gp¡ v$m ^fphsu b¡ hõsyAp¡, A_y¾$d¡  10 ms−1 A_¡ 5 ms−1 _p Apf„rcL$
h¡N\u Nrs L$fsu bsphhpdp„ Aphu R>¡. b„_¡ A¡L$buÅ\u A\X$pe R>¡. A\X$pdZ bpv$ s¡ A_y¾$d¡
4 ms−1 A_¡ 9 ms−1 h¡N\u Nrs L$f¡ R>¡. A\X$pdZ_p¡ kde 2 s R>¡. lh¡ F

1
 A_¡ F

2
 _u NZsfu L$fp¡.

(a) Newton’s first law of motion gives a qualitative definition of force.  Justify.

(b) The figure represents two bodies of masses 10 kg and 15 kg, moving with an
initial velocity of 10 ms−1 and 5 ms−1 respectively.  They collide with each other.
After collision, they move with velocities 4 ms−1 and 9 ms−1 respectively.  The
time of collision is 2 s.  Now calculate F

1
 and F

2
.

55. ×íe_u Mpdu S>Zphu_¡ kdÅhp¡. Ap Mpdu_¡ L¡$hu fus¡ kŷ pfu iL$pe R>¡ ?

State and explain the defects of Vision.  How can these defects be rectified ?

- o O o -


